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	x < 12   or   3x + 20 < 80				Begins to solve
	x < 20							Finds solution
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	a = 51.4°						Found angle a, with units
	b = 64.3°						Found angle b, with units
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		A + C = 1200					Correct 1st equation
		6.5A + 3.25C = 6630				Correct 2nd equation


		C = 1200 – A					Rearranged 1st equation
		6.5A + 3.25(1200 – A) = 6630			Substituted into 1st equation
		A = 840					Solving for A
[bookmark: _GoBack]		B = 360					Solving for B
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Knows to use formula
Correct substitution
Correct calculation
Correct rounding

Correct answer

Correct substitution into either
formulae (cone or sphere)
Knows how to find volume of
hemisphere

Either volume correct

Total volume correct
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V7' -6.5" =2.60

Height = 7.60m

7.41x10°

2.99x10°
41 minutes

= 2478 seconds

Know to use Pythagoras
use radius of 7 as hypotenuse

x*=7"-65’

x=2.6
Height =9.6 m
Uses T = b

N

Correct calculation(sec)
Correct answer in minutes




image3.png
k= 15_5 e Knows to use k* for volume

12 4 e Knows to multiply 200 by a
B= 125 scale factor
64 o Correct calculation of &’
V =k’ x200 o Correct answer
390.625ml
b* —4ac<0
a=2,b=3,c=p. o Use of discriminant
e Correct values of a,b & ¢
9-8p<0 e Correct substitution
e Correct solution
p>
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12. 60=3;€0 x 7 x 80
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o Correct intercept
o Correct gradient

e Knows formula to find arc

length

e Correct substitution
* Rearrange correctly
® Answer.




